North
Tgc'imﬁfgg‘{%‘s D-Sub and SCSI Hoods, Kits, Hardware, Accessories, and Overmold Cans

D-Subminiature Hoods . D-Subminiature Crimp B¢ |
All Hood Kits Include: Hardware and Strain Relief. 00“nector/cnver Kits \} i \\O
= \ Shielded Kits — Male '

Stock Mfr.’s Kit No. of
No. Type Type Pos.
810-0171 C270E09500 Metal 9
810-0172 C270E15510 Metal 15
810-0173 C270E25520 Metal 25
L 810-0174 C270E09650 Metallized-Plastic 9
810-0175 C270E15660 Metallized-Plastic 15
‘ 810-0176 C270E25670 Metallized-Plastic 2
Shielded Kits — Female
a-Low Profile 90° M : ded) | | Ggneem ) e R R R
i . o - - | etal . . !
Ultra-Low Profile 90° Metal Backshells (Nickel Plated) KL e e ¥ Eins bios e
) EACH 810-0180 C271E09650 Metallized-Plastic 9 3.54 3.20 2.92
Stock Mfr.’s No. of | ;0 Description 810-0181 C271E15660 Metallized-Plastic 15 4.39 3.98 3.64
No. Type Pos. 1-49 | 50-99 | 100-249 810-0182 C271E25670 Metallized-Plastic 2% 5.57 5.04 4.60
810-0075 | N30E900000 9 | A |90°Exit ULP with Grommets | 4.35 | 3.94 | 3.60 . .
sl AR e e
=) - ° Exit with Grommets ! g 4 a
> 810-0200 | N30E950000 25 | D | 90° Exit ULP Staple Strain Relief | 5.11 | 4.64 | 4.26 810-0118 C270E09750 Black Plastic 9 3.17 2.88 2.64
(7] At : 810-0119 C270E15760 Black Plastic 15 404 3.67 3.34
2 810-0099 | N30E930000L 37 | E | 90°Exit ULP with Grommets | 6.94 | 6.31 | 5.78 o10:0074 e B Py o e 332 306
? 810-0209 | N30E940000L 50 | E | 90°ExitULP with Grommets | 7.67 | 6.97 | 6.38 : : :
£ EMI/RFI Shielded Metal Backshells (Zinc Plated) Unshielded Kits — Female _
©  Tg10-0012 | C8BE000218 9 [ F | straight Ext 291 2.65 | 2.42 = s et & | B oo
= 810-0039 | C88E000207 15 | F | Straight Exit 315 | 2.86 | 2.62 i : : :
o raight Exi . . . 810-0117 C271E25770 Black Plastic 2 4.96 4.48 410
o 810-0033 | C88E000203 25 | F | Straight Exit 322 | 2.92 | 267
= 810-0060 | C8BE000206 37 | F | Straight Exit 438 | 3.98 | 3.64
= mmmomes 2L |ene AEIE N
- ° Exi ' b 4 S
S Hardware and v&§:§ AN % .sl
. . - Y
EMI/RFI Shielded Metal Backshells (Nickel Plated) Accessories » =3 B C D
810-0054 | MHDE45ZK9K 9 | H | 45°Exitwith Thumbscrews 3.85 | 3.48 | 3.19 i
810-0061 | MHDE45ZK15K 15 | H | 45° Exit with Thumbscrews 3.94 | 3.56 | 3.26 Stock Mir.'s Fig. Description
810-0027 | MHDE45ZK25K 25 | H | 45° Exitwith Thumbscrews 506 | 451 | 4.10 No. Type 1-49
810-0079 | MHDE45ZK37K 37 | H | 45° Exit with Thumbscrews 524 | 472 | 429
8100008 | b71c014a06 A da0x 75 Thimbscrow % | 2 |
. N . . - X umbscrew a a a
EMI/RFI Shielded Metal Backshells Straight Cable Exit (Nickel Plated) 810-0076 | B71E014255 A 4-40 x 1.90" Thumbscrew 28 | 25 22
810-0193 | MHDETZOK 9 | — | Straight Exitwith Thumbscrews | 3.85 | 3.50 | 3.18 Al | R e AR
810-0222 | MHDETZK15K 15 — | Straight Exit with Thumbscrews | 3.75 | 3.41 3.12 810-0050 B71E300612M26 A M2.6 x 1.90" Thumbscrew '27 '25 '22
810-0223 | MHDETZK25K 25 — | Straight Exit with Thumbscrews | 4.30 | 3.92 3.59 810-0051 B71E300613M3 A M3 x 1.90" Thumbscrew 26 ‘24 ‘22
810-0224 | MHDETZK37K 37 | — | Straight Eit with Thumbscrews | 4.72 | 4.29 | 3.93 : : :
S10.008 | B71c0031%iMoes | B | Mooy Capive Sorw s | 4 | @
i i - x 1/2" Laptive Screw . . .
Metallized Plastic Backshells 8100127 | B71E3005134M3S B M3 x 1/2' Captive Screw 48 | 43 39
810-0034 | C88E301000 9 | J |Sstraight 163 | 1.47 | 1.35 8100029 | C89E014009* c 4-40 Female Screwlock Set/2 58 | 52 47
810-0010 | C88E311000 15 | J | Straight 1.82 | 1.65 | 151 810-0210 | C89E014009M3* c M3 Female Screwlock Set/2 60 | 54 49
810-0021 | C88E321000 25 | J | Straight 2.06 | 1.86 | 1.71 8100015 | C89E014008* D Male Screwlock Set/2 63 | 54 50
810-0100 | C88E330000 37 | J | Straight 3.30 | 2.99 | 2.74 810-0067 | C89E014050* E 4-40 Hex Extender Set/2 97 | 81 19
810-0068 | C88E340000 50 | J | Straight 355 | 322 | 2.95 810-0207 | C89E014051* E M2.5 Hex Extender Set/2 120 | 1.08 98
810-0022 | C88E201000 9 | K |45 169 | 152 | 1.40 810-0014 | C89E014020 = 9 Position Slide Latch Kit 126 | 115 | 1.05
810-0011 | C88E211000 15 | K |[45° 178 | 1.60 | 1.47 8100103 | C89E014021 = 15 Position Slide Latch Kit 182 | 1.62 | 1.46
810-0023 | C88E221000 %5 | K |45° 213 | 1.92 | 1.76 8106110 | C89014006*t — Locking Posts ST/2 86 | .17 69
810-0101 | C88E231000 37 | K |45° 3.41| 310 | 2:84
*PER SET/2. tNot RoHS Compliant.
Die Cast Metal Ethernet Backshells
8100078 | CA8E610000 15 | L | staightshor 3s1] 346 | 315 | D-Subminiature Shielded Overmold Cans
810-0089 | C88E610001 15 | L | Straight/Long 3.85 | 3.50 | 3.18 . ) ) o :
810-0102 | C88E610002 15 L | 90° Exit 3.84 | 350 3.20 /&Jne-pleceddemgn pr%wdgs excellent EMI/RFIfshleIdmg and re?uces asseénllallly t||3me'
-| o ccommodates standard crimp connectors from most manufacturers. Cable ia.
GBI | CERITY g M) 0 Ui Ly i Bl || ek B Range: 0.200" to 0.375" (9/15/25). Material: CR steel. Finish: Tin over copper.
Non-Shielded Plastic 2-Piece Backshells Stock Mifr.s No. of Cable Exit EACH
T el | B L e e | en |
- raight/Blac . . d "
810-0159 | C88E311005 15 | N | Straight/Gray 1.28| 1.14 | 1.04 810-0106 A30EB00900 9 0372 -53 A1 A2
810-0160 | C88E311004 15 | N | Straight/Black 1.28| 1.14 | 1.04 810-0013 X9PEM2 9 0.283" -98 51 A7
810-0156 | C88E321005 25 | N | Straight/Gray 1.34| 1.20 | 1.10 810-0035 WOPEM3 9 0.200° -69 -60 -4
810-0161 | C88E321004 25 | N | Straight/Black 1.34| 1.20 | 1.10 810-0077 A30E801500 15 0372 10 -61 -4
810-0162 | C88E331005 37 | N | Straight/Gray 147 1.34 | 1.23 810-0026 A30E802500 25 0.354° 10 -62 -95
810-0163 | C88E330004 37 | N | Straight/Black 151 | 1.36 | 1.25 810-0221 37PEMO 37 0.425 1.76 1.60 1.45
810-0164 | C88E200005 9 | 0 |[45°/Gray 116 | 1.04 | .95
w2 EIR
- °/Gray . . d . .
810-0167 | C88E210004 15 | 0 |45°Black 126 114 | 1.03 ngh-Perfnrmance, Shielded,
810-0168 | C88E220005 25 | 0 |45%Gray 137 124 | 1.13 4
810-0169 | C88E221004 25 | 0 |45°Black 130 125 | 114 45° Backshells
g}gg]gg Eggg%gggi 33 8 ﬁszfgfayk 123 135 }%2 » Ultra-Low Profile » Includes Compression
- ST B D || ik » EMI/RFI D-Sub Backshells with Thumbscrevs Style Inserts D—
SCSI/VHDCI Backshells (EMI/RFI Shielded) Stock Mirs No. of T EACH
el | B | ©[Gmmhes [smleRlem | oo
- ralgnt wi umnscrews o N . .
s1u-ogss N94E120000 68 | Q | 90°with Jackscrews 7.38| 6.71 | 6.15 3]38%39 ggggg?gggg 1? %;gg ggg %3% ﬂ?
810-0206 | N90OE620000 681 R | Straight with Thumbscrews 5.41 | 4.90 4.48 #10-0238 G9BE220000 28 Jine 330 ) 523
VHDC. 810-0239 (095E230000 37 Zinc 4.16 3.74 3.54
) . . . 810-0240 C95E240000 50 Zinc 454 4.09 3.86
Non-Shielded Plastic 1-Piece Backshells with Thumbscrews $10021 N9BE200000 5 kel Py = e
810-0019 | MHDEPPK9BLACK-K 9 | s | straight/Black 1.90 | 173 | 158 810-0242 N95E210000 15 Nickel 3.64 3.28 3.09
810-0020 | MHDEPPK15BLACK-K | 15 | S | Straight/Black 1.90 | 1.73 | 158 810-0243 N95E220000 25 Nickel 418 3.76 3.55
810-0062 | MHDEPPK25BLACK-K | 25 | S | Straight/Black 204 | 1.82 | 1.66 810-0244 N95E230000 37 Nickel 458 412 3.89
2 810-0083 | MHDEPPK37BLACK-K | 37 | S | Straight/Black 242 | 191 | 175 810-0245 N95E240000 50 Nickel 4.93 4.48 4.23

1.800.433.5700 4 aIIiedeIec,‘com




